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R T 7 AN T H
kY] 1L KA+ R B E A 98 98
Tt thEg e+ m3 128.1 130
KA+ D) = 18 98.0 98
FHIA GO+ m3 128.1 130
ERESER B E e m3 128.1 130
T
KA+DH AR E 18 55.0 55 A5 AR e B
BT AT il - LSy t 0.2 0.2
TS T () &+ m3 598.1 600
PEH m3 16.3 20
it m3 581.9 580
IRBPEKE ¢ 800mm m 14.0 14
A T m2 192.9 193
TR T (=) P Il m3 617.4 620
b E R i E e m3 617.4 620
#ERT
FRE D 7 a7 T RE D7 oy 7 iakt 275 & 172 172 |EkE4 Bate
e S 1A RR 1S t=10mm m2 444.8 440
A (50~200mm) FREEAS
ik 2tH 18 22 22 1.25m3/4%
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4 =4 e ¥ =
T & e | N
@ ” 4 R b HAL | 2 & | &EtEE|] W B
SR mE L e A
WrimE1E 1T TR EY PN S Iy I 1.0 1 0.003m3/#5
fififfEd e 1T A AL RO B As m 3.6 4
Bl 2L RO Co m 18.0 18
EHEE Ry TSN As t=bcm m2 1.8 2
AsTIEM - L5y m3 0.09 0.1
DT 1 53+ 17 58
Cobli iRk efiAl t=9cm. 10cm | m3 0.63 0.6 [0.45m3+0.18m3
@ABHEN T~ b
RS AL A Co m3 0.097 0.1
EiO+®@
Comid iy - L5y % Co m3 0.73 0.7  [0.63m3+0.097m3
fHp e s 1 R m 10.8 11.0
RS — L AF arF [$4 1.38 1.4
%frbar ) —MNE R =27V —8 m3 0.6 0.6 24N/mm2
e m2 1.9 1.9
T — D16 kg 25.3 25.3 SD345
Y —hT T — D16 /N 192 192  [SS400%H 4
RC—40
AT t=15cm m2 3.6 4
HABRE As (13)
E=a t=4cm m2 3.6 4
By 215 TR &
1By T m3 0.04 0.04 HHFEIY
EBH LS AT AT
& A a7 —h 24-8-25BB m3 4.2 4
H R — R A m2 19.3 19
SRf L D19 kg 450 450
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B AT AT
SN i L D13 kg 121 121
a7 —REIFL $ 29%300 1% AT 132 132
D19
2T — | EAE L=290mm| A& 132 132
For s m2 9.1 9.0
CoiE - {5y 5 Co m3 0.026 0.03
Je N = 1.0 1
FHRT = 1.0 1
H &3 3R T
B 7Y —R T A m3 0.3 0.3
a7 —h 18-5-40BB m3 0.17 0.2
RC—40
FEREREA t=10cm m2 1.7 2.0
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Al R BOEE WrmdR  CPymERE S M i ] AR BOBE WrmidR  CPXmER 2 M i
(m) (m2) (m2)  (m3) (m) (m2) (m2) (m3)
- 10.20 19.7
10.20 19.70 | 200.9
No.0 19.7
10.20 19.70 | 200.9
+ 10.20 19.7
& 2 401.8
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i hEED 1 m’ 128.1
2 o toom B 5 55 B2 T T
BET T AT v )i - L5y t 0.2
i B+ X1 - i m’ 598.1
g‘i 18 1l m’ 16.3
T | Vi e m’ 581.9
g IRHEAKE | msesy=FL % o800mn| M 14.0
= BRDFI] T RC-40 t=10cm m’ 193
n il N m’ 617.4
; Vi) ag B8 W57 He T m’ 617.4
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KA+ AX B m H= .10 m (1B
(RUE B E - L) EE L= 1250 m+ 18.10 m+ 13.10 m
(£ 5+ i T HR) +  21.40 m+ 2950 m+ 13.00 m= 107.60 m
&% N= 107.60 m= 1.10 /& = 97.82 4§ 98 4%
gD+ V= 1.10 mX 1.10 mx 1.08 mx 98 %= 128.07 m| 128.1 p°
KEL+-D5H AX IR H= .10 m (1B
(FRE) ER L= 1500 m+ 7.30 m+ 11.70 m
(GHE 5 AT B ) + 26.40 m= 60.40 m
&%k N= 60.40 m+ 1.10 m/s = 5491 ¥ 55 43
BT 5 AT 23 - sy W 2.0 kg/4¥ X 98 48 = 196.0 kg| 196.0 kg
0.2 t
THEMHERTGERE)
K+ 1/2 X 84 nuix 195 m = 81.90 m
1/2 x( 84 ni+ 201 wx 19.3 m= 275.03 m
20.1 nix 8.0 m = 160.80 m
1/2 X 201 nx 8.0 m = 80.40 m
A8 = 598.13 m| 598.1 m®
P H1) 1.3 nmix 1250 m = 16.25 m 16.3 m®
TR 598.13 m- 16.25 mi = 581.88 m| 581.9m°
A B TR L A ¢ 800mm
= 7.0m X 2 VN = 14.0 m 14.0 m
FRb A T A CADFHAIEY
(RC-40 t=10cm) = 192.90 mi| 192.9 p?
T HE R L)
PEH 598.1 m+ 192.90 nix 0.10 m =  617.42 m| 6174 m°
T 598.1 m+ 192.90 nix 0.10 m =  617.42 m| 6174 m°
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SRMEHR - 12.54/ (7t /4%1. 9%1. 9) =b%
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) ) m> 0.151
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m® 0.003
Bl » » % — =T m 3.100
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f& o= m? 0.151
i T % n T T~
T m° 0.0002
2
o 0.151
[i‘ﬁ‘ Wi ﬂ% ?g T $d:$7k V=¥ A/ NENVA NV m
m° 0.003
T AT 7 VNS (t=5em) m 3.6
O B W T
27— M2 (t=9cm) m 18.0
‘ m? 1.8
T AT 7V NGEE t=5em
m’ 0.09
JU— ‘ m? 5.0
WO M £ L oy /) — R t=9cm
m’ 0.45
m? 1.8
fr 2 oY— R (=10cm
i m? 0.18
%
Bl EEHEENRET FAEBRIE T 22 (t=4cm) m? 3.6
T
fif Mg B TarYa D20 F%S m 10.8 B A
D R 7] =N 0 1.4
#%ITbar sy —F R 7 —h m® 0.6 24N/mm2
i e m? 1.9
VA D16 kg 25.3 SD345
av ) =T vk - D16/H PN 192 SS4004H 24 5,
BEgx o 20 —NHBEL T (FBH /352 h) m° 0.097
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T TIMrEEE T
B EETES FETES SAE Mg (m) | B&m) | mRm2)  ESm) | AREm3) | BEREE
AL~pl 21 AlER 7-ChE 0.050 0.150 0.038 0.020 0.0008 | sk~ 8
33 ARG (53h 0.050 0.100 0.030 0.040 0.0012 | k- K48
LA 20 P1AE&H 2T 0.100 0.200 0.060 0.020 0.0012 | k- 48
26 A2fEH s i 0.050 0.050 0.023 0.010 0.0002 | HIEk-
/INak 0.151 | 0.0034
Wi E 1T — 5 5n= | 4 JAE SL=| 0.250 0.50 Y120.400Xn+(XL1+3L2)x2 |  3.10
At 0.151 | | 0.0034
EEBEEYESt= 2V + TA = 0.0034 =+ 0.151 = 0.023 m
) 1. R EE AL, ARBEND (b+0.)x1+0. DI MNET 5, BT T 1 1% 0 B (=
JEAF1Z. (0.100+0.100) X 2=0.400 m /Wi &35, EC o
5
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HISEE
g
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1. FHIFHEET (Forr s Ly )
kI
A= 0.151 = 0.151 m*
V= 0.003 = 0.003 m®
2. vE—T
L= 3.10 = 3.10 m
3. F®YTL (FIA~— )
AT 1.0mm (0.5mm X 2[A])
A= b# FEHFRETHERELDY = 0.151 m*
V= 0.151 nfxX 0.0005 mm X 2 [ = 0.0002 m*
4. WrEfEE T (BRBRFY =T A VAV )
7Y Tmm X nfE (1B 7TmmA ¥V ERD)
A= b# FEHFRETHERELY = 0.151 m*
V= = 0.003 m’
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1. 7AZ 7L NhzEGIr T, (t=5cm)
LRS- 1E IR TR D
L= 3.60 = 3.60 m

2. A7) — ML T
B 18 10 LA L0
& t=9cm
L= 360 mt 3.60 m+ 3.60 m+ 3.60 m = 14.4 m

HiEE t=10cm
L= 360 m = 3.6 m

14.4 mt 3.6 m = 18.0 m

3. AEEEE T (FRAT77/LNEE t=5cm)

SRS - 1E I TR Y

A= 360 mX 0.5 m = 1.80 m”
V= 180 mxX 005 m = 0.09 m*

4. HEERE T (o7 — ML)
BRI - 1E 10 TR LY
&S t=9cm

A= 126 ni+ 1.26 ni+ 1.26 m+ 1.26 nf = 504 nof
V= 504 nmixX 009 m = 045 m’
THIEES t=10cm
A= 360 mX 05 m = 1.80 nf
V= 1.80 niX 0.10 m = 0.18 m
0.45 m’+ 0.18 m° = 0.63 m®

5. BLEAMEEID L (FHABRIET A2(13) t=4cm )
SRR 18 10 TEEAIR LD |
A= 1.80 nmi+ 1.80 ni = 3.60 m*
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. HE R HESRER ( CR + SS400 )
AlREE Ta7 a4 CDsT — 20 [F)45 5 Bi3E T L = 3.6 m
P& 7u7 a4 FCDsH — 20 H R4 5L HE L = 3.6 m
A2fBE T a7 YaA L CDsT — 20 [F)45 5 Bi3E T L 3.6 m
L= 10.8 m
iz (V% )
28mm X 15mm  Jiti T.ZEFE(0.38m+0.13m) X 2=1.02m
AlfEH L. =1.020m
V=003 wx 0015 ux 1.02 wx 1000 = 0.46 0
P 1Az A L =1.020m
V= 0.03 wx 0.015 mx 1.02 ax 1000 = 0.46 0
A2ER L. =1.020m
V=003 wx 0.015 mx 1.02 aux 1000 = 0.46 0
AV 1.38 0
. BiTbars)—hk
AfEE V= 360 wx 030 wx 0.09 m+ 3.60 wnx 0.35 m
0.09 m
= 0.211 m’
PG V= 360 wx 035 wx 009 m+ 3.60 wux 0.35 m
X 0.09 m
= 0.227 m’®
A2fEEH V= 360 mx 030 wmx 0.09 m+ 3.60 wnx 0.35 m
0.09 m
= 0.211 m’
SV = 0.648 m’
. BT baL ) — MR
AEER A= ( 360 wx 0.09 m) X 2 = 0.648 m®
PUGII A= ( 360 wx 0.09 m) X 2 = 0.648 m*
A2EE A= (360 wx 0.09 m) X 2 = 0.648 m°
YA = 1.944 m®
5. 71— (D16 SD34f)
ABE BEN =85 N=32 = 0.085 umx 1.56 m/kg X 32 A= 4.2 kg
Frl [=85 N=32 = 0.085 ux 1.56 m/kg X 32 A= 4.2 kg
P 1Az L= 85 N=64 0.085 wx 1.56  m/kg X 64 7= 8.5 kg
A2tEE BHEM [=85 N=32 = 0.085 wx 1.56 m/kg X 32 A= 4.2 kg
G il =85 N=32 = 0.085 wx 1.56 m/kg X 32 A = 4.2 kg
SW = 25.3 kg
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AlfGH
PG )
A2fGH

7. BERRo 7V —REUE T

ARES

N =
N =
N =

(D16 SS4004H24 %)

64 AR
64 A

64 A

ZN =

3.60

192 A&

(fEE/ 3T ~<h)

mX 030 mX 009

m

0.097 m*
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T%E 2 IR - Tk B w &
[ aEa P1AEH A2IBS &t "
avs)—+ o ck=24N,/mm” me 0. 86 2.44 0. 86 4.2
BB m? 4.27 10.73 4.27 19.3
D29~D32 kg — — — —
. D16~D25 " 112 232 106 450
A5 SD345
. D13 " 24 73 24 121
E & &t " 136 305 130 571
¥k . m 10.2 19.2 10.2 39.6
= Bl L D19 @29 x 300 —
T &R 34 64 34 132
H#iiEFE TR HE kg 4.73 8.90 4.73 18.4
FyBELY m? 2.15 4.80 2.15 9.1
a5 ) — MBI - sy me 0. 007 0.013 0.007 0.026
j: INA THR—F = 1.0
XRI =% 1.0
rrH% = T iR t=20cm m? 0.34 — — 0.3
it avay—Fk 18-5-40 m? 0.17 — — 0.17 t=10cm
& | ®IAIVHU—F -
T EBRA RC-40 m 1.70 — — 1.7 t=10cm
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1. Al¥&H

Wi fE A= 040 mX 050 m= 0.20 m2

1)z 27—k (24-8-25BB)

V=020 mXx 4.30 m = 08 m3
2) B
A=( 040 m+ 050 dmx 430 m+ 040 mX 050 mX 2 = 427 m2

3)#kFE  (SD345)
KEEIL, KiEm SR,

D19 70 kg
D16 42 kg
D16~D257} 112 kg
D13 24 kg
At 136 kg
4) R FE
TRk D19
HI| FLEE ¢ 29mm
HIfLER L= 300 mm
HIlFL & iy n= 34 AT
HIlFLAE R SL= 300 mm/A X 34 fEfT = 102 m
REIRTE N =
w= 1/4 X T X( 0.029 2*x 0.300 —
0.019 2x 0.290 )X 34 X 1200 kg/m3 = 4.73 kg
5)Fve s
A= 050 mX 430 m = 215 m2

6) =27 — bk - ALy
s

V= 1/4 X X( 0.029 2x 0.300 )X 34 Vi = 0.007 m3



2. P&

8550

5550 3000
750 4800
=
gl s
g Q
VR A= = 488 m2 (CADEHANZLD)
1)z>27Y—bk (24-8-25BB)
488 nixX 050 m
2) A
( 480 m+ 055 m+ 050 m)X 0.50 mX 2
5.85 m+ 4.88 i
3) 85 (SD345)
AR, m& R,
D19 146 kg
D16 86 kg
D16~D257} 232 kg
D13 73 kg
&t 305 kg
4) s Fe i
T =RV k D19
HI| FLEE ¢ 29mm
HIFLE L= 300 mm
HIFLEE Ar n= 64  f&T
| FLIE B L= 300 mm/AK X 64 T
FHIE N
w= 1/4 X 7 X( 0.029 2x 0.300
0.019 2x  0.290 )X 64 X 1200 kg/m3
5)F s
0.50 mX 4.80 mX 2
6) 227V — hERIE M - L5y
v= 1/4 X 7 X( 0.029 2x 0.300 )X 64 /N

2.44

5.85
4.88
10.73

19.2

8.904

4.80

0.013

m3

m2
m2

m2

kg

m2

m3



3. A21BH

Wi fE A= 0.40 mX 0.50 m= 0.20
1)z 7U—bk (24-8-25BB)
V= 020 mX 430 m
2) B
A=( 050 m+ 040 m)X 4.30 m+ 0.40
3)#kFE  (SD345)
EEIL, KiEm SR,
D19 68 kg
D16 38 kg
D16~D25%} 106 kg
D13 24 kg
&t 130 kg
4) i Fe i
T I =RV D19
HI| FLEE ¢ 29mm
HIFLE L= 300 mm
HIFL & A n= 34 &
HIFLAE & SL= 300 mm/A& X
BHEEA &
w= 1/4 X 7 X( 0.029
0.019 2x 0.290 )X 34
5)F v T
A= 050 mX 4.30 m
6) 27— NERIE M < L5y
V= 1/4 X 7 X( 0.029 2x 0.300

m2

m X

34

2

X

) X

0.50

T

0.300
1200

34

m X

kg/m3

0.86

4.27

10.2

4.73

2.15

0.007

m3

m2

kg

m2

m3
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1) & H4EHE
a7y —b, FEEEEA

A:
A+
v:

oL 7U—RT

1)z 7U—hk

A:

1.00
%

1.70

1.00

mX 1.70
m X
(18-5-40BB)
mX 1.70

Rz 7Y —REL t=20cm

2) FEfErn  (RC-40)

A:

1.00

m X

1.70

m

m X

0.20

t=10cm
0.10

t=10cm

m

1.70

0.34

0.17

1.70

m2

m3

m3

m2



